4 TOURATECH

TOURING RALLYE RACING TECHNOLOGY

09-053-0051-1 Top Case Brachet R11AAGS.

Contains:

1 x Top box bracket

1 x Top box bracket top plate

1 x Top box X-brace

4 x Countersunk screw M6 x 20
5 x Countersunk screw M6 x 12

4 x Nut M6 _ -
5 x Cap nut M6
Top box bracket
5 x Washer large M6 ’rc;enk;%?(nt:reike’r &* e ’rog plate
8 x Washer M6 P
2 x Key X-shaped reinforcement

Installation: @7 piate (installed inside fop box)

Remove the hand grip on the stock rear rack. The two front screws will be used with the top box bracket and the two
rear screws are supplied with mounting material (2 x Méx20).

The installation is easier if you disassemble the two layers and reinstall when the bottom layer is attached on the bike
rear rack.

Center the plate on the bottom of the Zega Case, mark the 5 holes (fop right photo with #1) and drill fo a diameter of
6.5 mm.

The X-shaped reinforcement plate has 5 holes corresponding to holes in the plate that fastens o the bottom INSIDE
the Zega case

Fasten with the 5 short machine screws countersunk on the boftom of the plate, the 5 large washers and 5 dome nuts
on the inside of the Zega Case. Use locktite or similar thread locking compound.

To attach the Zega case 1o the rack,
slide the 2 rectangular latches at the front of the case into the guides and pull the latch towards you.
The box should fall flush with the rack and the latch plate should retract toward the front of the case.

It may take a coaxing for this to happen until the latch loosens up a little. Tumn the key to the right to lock.
The lock must ALWAYS BE LOCKED when driving.

To remove the Zega case from the rack, see the
first step above.

Consider the weight of the Zega case and contents
when loading your motorcycle.

Do not exceed the maximum load limits for the make
and model of your motorcycle.

DO NOT exceed 130km/h or about 78 MPH with the
Zega case installed.

Use these instructions at your own risk. These instructions
are new and have not been tested by independent
installers. Touratech and Touratech-USA assume no
responsibility for errors using these suggestions. If you
have any doubts about your ability to install the top box,
please contact a professional mechanic. r

These instructions are at our current level of knowledge. Legal requirements do not exist. Technical issues subject to change.



